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And perhaps the 3127 of s'"wNX 21 academy agree with ®Xyaw

OVERVIEW

The X2 stated that even if it was written in the poi7 that the poii was
performed in the 7"2 of WX X137 it is still no proof that there were three
0’17 present at the 01°p; for it is possible that the 7127 of »wX 27 °27 agree
with PR%w, who maintains that P7 07°1°7 1172 2°3w. The implication of the
X713 seems that YX1w maintains that 01°p with two 2°3>7 will be 72v°72 W>.
Our n1dDIN chooses to disabuse us of this notion.
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The explanation of the phrase 177 X7°20 9X1mw> is [not (necessarily) that
they and PR agree that mIvWw 01°p can be done with only two; but rather it
means] that just as 81w generally maintains that a ruling by two 2°1°7 is
valid, similarly the >wX 17 °27 7127 maintain the same concerning 2°p

N1V, that two 0°1>°7 are sufficient.
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However, >Xmw himself may indeed maintain that for nuww a»p in

particular, three 0°1>>7 are required. muw ovp is different than other 7N 7
where two D17 are sufficient 72v°72.°

mooIn proves his point that we can differentiate between mIvw orp (where three are
required), and other cases (where two are sufficient):
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For 11 agrees with »X»w in the first P25 of y"17730 nHon -
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that if two 0°1°7 issued a ruling, their ruling is upheld; nevertheless -
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And 1'% himself maintains that n1uw 21°p requires three o1>7. This can be
found -

" The term w10 indicates that we are not to understand the text in its superficial meaning. In this case it
precludes us from interpreting that X must maintain that 2°3w3a nvw o1p since he maintains MW 2w
7 0T,

? See “Thinking it over # 1.

? See “Thinking it over # 2.

* See “Thinking it over # 3.
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in 250277 NP P99 in the X 1), on the mawn which reads that there are three

different countries in relation to the laws of mPIN. We see that 1"1 clearly
distinguishes between Mm1vw o1p (where three are required) and cases in general (where
two are sufficient). The same may apply to PXnw.

SUMMARY
XMWY may maintain that 17 077°2°7 1172 0°1 and nevertheless require three by
mauw orp.

THINKING IT OVER
1. It seems that 190N is reluctant to assume that PXW maintains that 21°p
D12 MY is 728772 Ww2.° What is the reason?

2. Why indeed can there be a difference between m1ow a1p (which requires
three)’ and other cases (where two are sufficient [723°72])?°

3. How does n901n derive that s'1am1 27 statement (in 2"2) that mvw orp
mwhwa,” means even Tav>72?

5 The X m3 mentions there various rulings that X217 said in the name of 1"7; one of which is that n1nuw orp
7whwa. See nwoIn there arp "',

% See footnote # 2.

7 See footnote # 3.

¥ See w17 Moo,

? See footnote # 4.
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